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Q-No: 1 3R §1d v= Rraa wa fedi o §-
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Ffe AN ea! TR FHad Tl ORI AT

View Candidate Question

A
B
C T B UT ST 1 & § eI 3R T eal BT IGRTS 9§ Sqaih B §U S 4 &SIk P Uga
D

3 Pl
Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 2 HTST 3/%{-

A Rigsep Bt SHTaxaP SURURT I [T B 31
B T Bt e B @ va B

c e, WIfds g 81

D ST B 31

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 3 P ARHT uw Reu st g i 21
A ferat fafy
B ST Ay
C e fafy
D S fafy

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 4 fgdia-UINT & STHRON &7 AGUIT B Wea®l: SMarg = # J T fafy & o < &2
A ST 3gaTe faf

B S Ay
C IurareH fafy
D et fafy

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 5 P & J 'Siee (I Riemr s g <R & w1or! & R waifie Iuged 82
A e TR

B IR TR
C TE TR
D THER TR R

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 6 = & § grewd Ay & v #) RfMys Ran S  PI S Bl
A e faus o
B S §
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C Qa-ga §

D TeTaR Td Arpiidaa §
Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 7 1 ¥ 4w e UIe &1 UgH & d16 30 B @l g dA qal g, |fd___
A g B B Y STl H arer $ sied $1 e 8 bW

B BT B IR Tl e % Ak w1 & R siaxas @

C TewH X B g o faemas gt o wH

D T8 B Hx § OF § W 3 3red o e 7 8 e

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 8 1T frarmr & e wgraed Al &1 aM f

A u=gl & of e &

B TGl & SEARY YK FA H

C el & o FiTem # 19 Rl & SR Y A A

D 7 0 wedt & orf e 7 iR 7 € Wedl & SR g5 FA |

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 9 Ty T & R BH-U1 BRF Taifde Aeaqy 87
A I S UIA-T&iH

B TS & R

C 75 TR SR W

D TG WG aTaERYT

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 10 UTNT-35H H HEayuf §

A UTST-URH
B TS B e
C uTr & faftra =t &1 Wi
D HTST T SATHROT

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 11 Rienffai & ugn 3t Tpla &1 fawma A & forg ol §

A 3w ¥ o uie! ardht ureT-ga®

B UIea-i® & ik U el Sues SR
c srufefera SR i ufkasr & S =T gear B
D USA-PIRIA & Gedic B1 U T[T

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 12 5 Wt T ARIHRO HRS BT TGN G311 82

A aTefr
B TUHT
C TTISIT
D IRTEG

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 13 Ur4fife TR W Sfaar Reor o1 gomedt 82
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A M
B o
c st
D TRTET

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

fAE=T: PTHIY B UgHR IR U URAT & Gad IR IR A fawed o1 99 Fifore-
B S A o< Rt
it & @ 3--

S SifH 9% F TwR H
THH Y & SR BT 3

T FE 2 B

TEY ORI, ST o

o1l e 31 W uel & uef 21
-4 ol 7 /@

7 - o | A,

T &1 UgaH 9§ A Ao W
TIT-G & SR qD BT

TR T IR g1 WK,

TR 3¢t g onft 0o

S 3fftH 9% S THR & € g B

Q.No: 14 = § & Sufad ufdadi & faraar &1 911 9d15e-

A ST oAy
B 3Teiep =Y SUTE
c IR st

D ORI VT fRadt

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FHERT: B B UgIR Y T U F T IR Sk ard [qwed &1 9o ifve-
R ST 3 Socdht Rewas!
Wil & @ 8--

ST A ST 9% P TWR A
TRl g% St

THH JY & SR BT 3

e E 1S B

o I S W ual & val g1
¥ oot 7 &

a7 3=t fovepd 1 E,

TS B UG ¥ A HERH K
UIYU-G7 § SR qb DI

FHR T IR IH R,

R el g onfi d@

ST F offH a S THe & € g% B

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

3/49
Page - 3



Q.No: 15 I Ufkdi & SR Rad ®IF 1 gfd Hiforg-

TG TERT, S e e dh K@ R __ gl
A W Hg
B 3 & it
C AT
D uaf 8 uaf

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

PE: B $ UgaR Yy T U F G IR Iak ard fAded 31 991 HIRe-
&R S & Iat R
wfedl § @ 3--

ST F ST 7% & W H
THH JY b SR BT 3
RELCCRCRICIC LA

a1l o 3fid | yel & uaf 31
-4t ot 7§

1 3rf-¥ foepa 3 &,

T &1 UgaH 9 A HewH K
TITO1- § PR P BT

PR 9 DR bl TR,

R aneht g snft oo

ST A 3T e P gE T & g B

Q.No: 16 =1 & ¥ foRepa @1 of a1 87

A e
B CERC)

C e Bl
D UGS

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

e ST B UgaR I T Ul & WaY SHd Sak an faded P1 90 Pi-
R 3T & I3l Rt
afedt ¥ @ 3--

ST 9§ 3 7% F Jw A
THM W &b SR BT 3
e g HIGE B

Yo T 3 W val € el 8
-t geft 7 7

7 - o 1 8,

TS P UgdH § gAY HEEH |
-G & SR qD DT
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B TG PR DI TR,
TR 3¢t g enft aF

ST Y 3T o P IER T & g B

Q.No: 17 I TR F STHR Red M &1 Gl Siforg-

IR 78 B TP GOR, W 3 g anht a F 9 8§ € g 8
A ST ¥ SffT dF
B TTSTOT & GTSTor
C TR A FHR
D -t gt

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

AT FTeatY Y ugHR Y Y U & Ted S IR 9t ided @1 99 Fifvre-
B S A Iocl Rt
wfedt ¥ @m g--

ST A SifTH 9% F wwR A
TRl g% st

THH IY & SR BT 3
RELSECRIGIC ]

o I Sifeied W Ul & val 31
- R |

1 gRA-X foRepd W@t &,

TS &1 UgdH 9 A 7EE W6
TIY0-G § SR qD BT

YW T B P WR,

W 3neft g andt @@

ST 3ifTH T % AW A & g B

Q.No: 18 =1 & & ‘arr &1 faa XIeg &1 82

A SIgR
B it
C IRERS
D a5

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

FE: FIA F Tga? Iy T U & Fed IR IaR a1d fAded &1 991 Pifre-
B S Socht Rewast

wfedt & @ 3--

ST & ST 7% F IWR F

THH FH & §IR BT 3

T S5 e

o1 do 3T | uef & uef 21

-4t golt 7 8
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1 arfl-¥ foepa 3 &,

W &1 UgaH 9 gHN HewH WK
YISTU-G3 & SR b DI

TR T TR gHT §OR,

TR e g sl aw

ST A 3T T T gwR T & g B

Q.No: 19 31eg “SieH 31 3DBI" & fow 7 & 9 1@ g 37 997 Difore-

A foranem
B g
C THERR
D EEEIniG]

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

&R BT $ Uga Y T U= & qa IR IaR ard faded &1 991 $Ifre-
&R 3 & Il Rt
afet & @ 3--

S 9§ SifH 7% F Jw A
THM Y b SR BT 3
e 95 HIE B

o1l T i W ual € el B
- ot 7 7

7 - o 1 8,

I Bl Ugd & GARI HEEH W@l
TI-GI & PR qD BT

B qY D bl TR,

R 3¢t g snft aw

ST 3T T P qW # & 3 B

Q.No: 20 i & } 90 9 TR 1 93 T 87

A fegara® 1
B Sfaare® =T
C RIECIEEGE)
D Soqarae Gl

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

=1 = T T T Y UgeR g Y uRAl & a9 Sfud SoR it fise o 9 -

IE F B w0 A § AR B Wl W Iuaed Sl 31 8 e, I, A aut sryd F SR ura fan o T 31 98 e IR § siest F U, qasrad) J, Y O

o, MG a1 R Greai § SR eriee § oifd), ydve!, g5, uibar awas) R a8l 7@ & g ae & g 81 giaiie 9 &1 Rien 3 S = §1 e 98

FABRI, TABRI, THIHT, def, TIHDT SR ol T T d fob THRY RORN & Uy Hieg HIvl I off Ui fovan o Savdn g1 I 39 Gelt & TSR a1 H1f - 9ie # eyl it
T 81 ARt fiRraa o) sfiem, sd@is, Tereis iR 3§ TR, S gHRY ST B e §, 4 99 exor, Yrasradl a9l fxafiemer 1 @ e I F e wia €1 gan wital § R-
TG 3R gfaTdt TUFER 3 WRAR §1 AR IR §, AR H, Sia-TRewr R It # qur Is-gidt ok g-oiiad 9% 39 & HsR 50 B1 AR 3 & &) g # yean
T F forT S oot STt SR Sgd &Il TG 31 I SO § g SiR A1hd o1 WId @1 81 I8 BRI § % g aR 7 I &t Wity R SR fean s @i /)

Q.No: 21 I TR & SR, e § foraet et ama 82

A
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Pt

A

B M

C R
D D

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

= R U U ey 9 ugeR gy T Ul & el Sfd IaR at fadwed &1 9 Fifre-

I F FS T T § IR D% WM W Iua a1 o1 32 Rrer, Ga, IS qur sgyd & IRke ura fasan s e 31 a8 A Gl § et & U, gaste §, i o

, Tiyr g Al el  SiR Sriwal 7 ST, Tauw, e, Hfhar qwaon R Jgf 0F 6 ghmI do # g 3| giaries I &1 fRien ¥ St A 31 afes ag

FABRI, TBRI, gHidl, aedt, TAADT iR Well 71 gt o o A et & Uy Higg Fira 4 «f urd i o1 woar 31 99 37 9 F vexH aur & - wrreA § Agayut YT
fumar 81 5t foRraa o Sfagra, Fiieis, Merwis SR 3 TR, S gURY a1 1 o §, 4 99 axorw, Yrasradl adl faxafaemerd @) € we I F fawne w@ia g1 gaR wifar § IR-
IR SR gRETd THFER! B AR §1 TR IR ¥, TERITRT ¥, S9-TRe0r 3R Yt A o Os-dredt ofR ug-siiad q & 3 & HeR B 81 g9R 3 & &% Uod § g
TS & 1T TSB! 0T 3T SR SIqYT &l Hiv[G ¢ | IH THRN 4 Ihfs SR drhd &1 Wi W61 81 I8! SR § o g R # I &1 Wiy R SR faam <1 @1 31

Q.No: 22 A & 7iq & fHge! +RAR 82
A gt TmEeRy Bt

B TRIGURET B
c gt @t
D A BT

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

fAdw: R U 7T TR $1 UgHR g T Al & TEY I SR AN fAded o1 791 Hifor-

IE F B3 T B © AR B3 R R IUaH Sl o1 38 e, I, FSIAA aUT g4 $ SIRT Ui fHar S Twar 81 7 e IR F sl § U, geEdadr J, WY o

B, MR qur R Gret § o) i § Sifdl, yduel, SE7, ufthar kil iR 9! de b gl ao & T 81 gianie 7 oI Riem ¥ S a1 81 e T8

PRI, BRI, THAI, aeht, afAPT R Tl a1 TeT do b TAR [elrll & Uy Hiee SR 3 off w5 o1 gear 31 39 37 9 & ekl qu1 S - e § aeayef et
fAurar 31 gaRt favrera iR sfaen, Hiiwls, HeeTs ik § WY, S A Ao &1 fow €, 3 99 Rerd, qRasiedl au faxafaemerdt @1 § @e 39 & faxna w@id &1 gaw 7idl § IR-
RGN SR gt TUEeR! 1 ARAR 31 §AR IR0, TR H, Sa-WR&01 3R IR # au US-uielf ofR ugy-siiad ao # 99 & HeR 50 §1 g9R o & &R IS § g
IO F 1T ISt ot oFIgh IR Sqyd & T €1 I THRN I UNfE SR drhd 3 ¥eid XeT 81 98! BRI § 5 g o) # I B wity R Wk fomr s T f

Q.No: 23 ¥ g0 ¥ g Wid @I 2 ?

A R &1
B [EREGE
C ST 31

D nfg 3R awd &
Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
&= i fau U e &) deeR gy T Ukl & e Sfud Ik aIdt faded &1 9ue Fifre-

IE F B3 F0 g § R B Wl W Iuas ST 31 T8 R, ga, A aut sra F IR i far o1 T 31 97 e I 7 st ¥ e, gReradr J, Y U

o, MR qur Rl e § oiR srded 3 Sfifdl, yduel, 357, ufhar cxads @ik g8l 9o & goml oo & g 81 gl I @1 Rign I Hit 1a1 31 e a8

FABRI, THABR, THIHI, d¢f, TDT SR Fell 1 Tl a6 AR T[eiord & Uy Hice il I ot Urd a1 o Yoba 81 9 37 9 & ek quT S - wre § Aeayul yfist
Frrar 81 ARt fiRraa o) sfiem, Sd@is, Tereis iR 3§ TR, S gHRY ST 3 e §, F 99 aror, Yraeadl adl faxafiemrd 9 @ @e I F e wia €1 A el § TR-
qRAG SR gl TSGR & HRAR ¥ AR AR B, HERIFRE H, Si-WRe0 SR IR & qur g-uif ok uy-oiiad o & 99 F HeR 5T ¥ R 3 & R I9 & geam
JuTe % U ST o 3FIgt R g & v 81 T gRe ¥ 9fe 3R diba &1 Wi 38T 81 98! BRU § [ g wR A I B Wity W ok fear s w1 )

Q.No: 24 'HalBRI" BT Ybaa BTl -

A FAPR
B PIAPR
C FABR
D FABR

Correct Ans : D
Subject : Hindi Bhasha 01
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Passage:

e 9 U T T #1 ugeR g T UK F HeY SfUd SR ar fawed &1 99 Sifog-

IF P B3 U B § AR B3 Rl R U Sl o1 38 e, I, FSIAF aUT gy F R ui far ST awd 81 7 e IR F sres! U, gEdad J, Wy o

7, Tigr qur A= Wrei § ok Sriwer A il vdewi, g7, ulhar gadsi 3R gt d@ 5 gl o | gia1 §1 glans I &1 fem I S8l Arar 81 Al ag

FABRI, BRI, gHiT, qell, GRAADT iR Tl a1 TeT o & ot et & U Hivg Siia 9+ wra 5 o1 wwar 31 99 37 9 & vexi aur o - wwreA § Agayut YT
R §1 gar favraa ok 3fagr, Hdals, TETEHis SR § TURIY, S gORY a1 &1 few €, A Ua Rord, [Radmadl aut fazafaened ot € e I & fawne wid §1 gaR 7ifdr & R-
Rt SR g TRt @ HRAR 1 §AR 9aRY , TERERT #, Sa-WRewr SR IR § aur G-t ofR ugl-oitad q@ # 3 & SR U 1 §AR 3% & & I59 § g
TAN & U Sa@t ool oSt SIR Sigqyd &mdT Tiee | T SURT § TS SR A1 T Wid 81 ¢ U8 ®RUI € i g R § g9 o Wity )R ok fear s ¥er 21

Q.No: 25 " $1 Afi-fsde g -

A TP + 3T
B TP + A
C TP + AT
D TS + T

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

g i R e i B gH) g MY U F 99 IR SaR a1 fadey & 99 $ifoe-

I F I UL § IR DS W R SUH gl 31 39 e, @, PSR au1 Sya & SR i e 51 wwen §1 a8 e S F e & i, YEastadl J, i o

B, MR qur Al Gre § oiR s § Sifdl, vduel, S5, ufhar cxadsi Rk g8l do 6 goml a@ & g 81 gians 7 @I Riem ¥ Hid a1 §1 afe a8

FATBRI, THABRI, THT, Aefi, SIS SR ol quT T da fob TARY RORN & U Tieg Sl I off Ui foa1 S 9dr g1 I 39 el & UeR a1 S/ - 9re 3 Heayu! Yt
T 1 5 iR SR 3R, Fiels, Herels ok § IRORTE, S gART a1 &1 feea €, 3 99 crema, qraeadl gy fxafyemerd 3 8 we 719 & fxne w@ia €1 gaR el § R-
RIGHUR SR g THFERT F AR ¥ AR AR H, TERIFRT §, S9-3Re01 3R YR & a1 U8-redt SR uy-shiad ao & I F HSR B B AR 3 F R I § gHa
IO ¥ Y IUST (ot aFgh SIR Sgyd & T €1 I TARN I Ui SR arhd 31 Wid XeT & F6 BRI § 5 g R J I B wity R Wk foar o T #

Q.No: 26 "HRHR" @I Ifed yaigar § -

A HSRU
B fowr
C RIS
b R

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

&= = T U T Y UgeR g Y URAl & T9Y S SoR it fadey o 9ue -

IE F T T G § AR B Rl TR Iua ST g1 8 e, I, A aur Sgyd F IR Ui faar 1 wwd 31 98 e IR § siest ¥ U, qerad) J, WY U

o, MR qur Rf Trea § SR srefea § Sifdl, vevst, 38w, uihar cxadel ik a8l a@ & gorl oo J gar 81 giaie I @ Rien I S 1 81 3 a8

FABRI, TBRI, gHiT, aeit, TAADT iR el 71 Tl a9 (& At Teiomt & Uy digg Fat I o urd i o1 9oar §1 99 37 9 & vesi aur o - wrred § Agayul YT
Frurar 81 5ar favra 3R 3faem, SHals, TePhis SR § R, S gARY I &1 3w §, T 9 e, Teamal aur fazafdened @t € we I & fua w@ia 81 gaR 7iia) & k-
qRIAG SR gfaTdt TUGRT 3T 2RAR §1 AR IR H, TERIFRE H, Sia-3Rewn ofR It & qur -t ok uxl-offad 9% & g9 & USR 5T 31 TR 3W & &R 9 B g
TS & R I ST S SR ST &I HING ¢ | I SO ¥ TS 3R hd 31 Wid <81 81 F8) BRI § 1o gian 1R 7 I 3 Wi | SR faan o1 @1 §)

Q.No: 27 g a1 I g BT TG FIoTL-

A it
B P
c Teforat
D P

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

e R U T T & ugeR Y T U % TEd SiUd SR a1 fawen @1 997 wifkvie-

I P P35 U B § IR B3 WM IR ST gral 51 U e, Ga, S auT Sgud & IR Ui fvar o S 31 98 e Sl 7 s & Ui, Qaeradl o, Y o
o, MY qur Al et  oiR Friwe § Sifd, veuwt, SR, vl axaas iR J8f a@ & gomi a% & g 81 giafes I @1 gt ¥ S a1 31 afe a8
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FAPRI, GBRI, THIA!, Aeh, TRID! SR ol qT 76T d0 5 AR et F g dioe Sria 3 o ura fFar o Saar 81 36 37 3 & uekiq qur o - Smre § Agage! Yt
R §1 gAY favraa o gfagr, Fals, TRTHis SR 3 ORI, S8Rt I &1 few €, U 99 Rond, Radraal aut fazafaenet ! € ®e I & fawna wid 81 g9R 7ifar & R-
RGO SR g THEERT B URAR ¥ §ER AR ¥, TERITRT §, Sa-TRe0r R YRR # qur Us-uidl ok ug-ofied o # 39 & YSR 5 ¥1 TR 3% & W Isa # g
AT & o Iaa! St gt SR Srgyd &maT Hig ¥ 1 I AR § WIS SR didbd BT Wid 38T 81 U8 SR § b gfan 1R § g @Y wity iR SR far o 38T 81

Q.No: 28 ¥ &1 fmneff rea @ -

A T
B 3

c SR
D A

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 29 A H | HIF-1 U9 A& BT T WA I 82

A et Sia B SR & ol 9§ gl oY

B fR1eor 1 et ST Wi

C Torerrera 1wy wateT @ wunaT fan Sl

D e Sfia B AR & ofiaT § HH T wieT s

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 30 1= & § P-91 SOk 1 ver e 82

A SRS
B Ra

C ISR
D oG]

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 31 Calculate the mean of first five multiples of 4.
2461628 4 % ugd UiY U T W1 G I

A1
=
© %
3

Correct Ans : D

Subject : Mathematics

Q.No: 32 What should come in place of the question mark (?) in the following question?
2466966

18 X6+22X3+27=7

fafafaa oy 7 usares g (2) & RIM W 1 T 91ieu?

18X 6+22X3+27=?

147

A
147
150

B
150

C 152
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152

148

148
Correct Ans : A

Subject : Mathematics

Q.No: 33 Rohan’s age will be 11 times his present age after 50 years. What is Rohan's present age in years?

2467364
50 9Y 915 g B Y ID! IGAM S B 11 AT 2| g B IdAM I9 a8 & 7 82
6
A
4
B
a4
5
C
5
8
D
8

Correct Ans : C

Subject : Mathematics

Q.No: 34 A rectangle measures 25 cm by 10 cm. What is its area?

2467484
TS 3M1ad &1 A 25 YT o7 10 i §1 30HT S T 82
252cm?
A
2
252 %1{”
251 cm?
B
251
250 cm?
C
2
2509
205 cm?
D
2
205 31

Correct Ans : C

Subject : Mathematics

Q.No: 35 The area of a rectangle and the area of a circle are equal. If the dimensions of the rectangle are 22 cm by 7 c¢m, then radius of circle is?
2467542

TS 319d &1 &Ahd AR U6 Id ST &b kIR g1 IS Smad 3 faang 22 It yon 7 &t €, o 3 1 = @2

11 cm

11 37t

1E ~en
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15 cm

15 3t

7 cm

7 &t
10 cm

10 9t

Correct Ans : C

Subject : Mathematics

Q.No: 36 The circumferences of two circles are in ratio 25:49. Find the ratio of their radii.

2467609
3 g1 B U 25:49 & U & §1 I PIsnsli &1 s J1d FIR |
5:7
A
5:7
9:5
B
9:5
25:49
C
25:49
49:25
D
49:25

Correct Ans : C

Subject : Mathematics

Q.No: 37 In which of the following are the lengths of diagonals equal?

2467640
Frofafa 3 3 ol Rl 3 oo R 82
Rhombus
A
g
Rectangle
B
SAd
Parallelogram
C
TR TG
Trapezium
D
e TG

Correct Ans : B

Subject : Mathematics

Q.No: 38 Splve the following:
2467831
& -?

(@)% + (N + (N2
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ferFaTfeld &l geT
@ -2 _,
@2 +@(MN+ (N

10
A

10

9
B

9
C

5

1
D

1

Correct Ans : D
Subject : Mathematics

Q.No: 39 Which of the following is a perfect square?

2467946
fFrafaad 7 3 @i e qof af g2
2500
A
2500
2504
B
2504
2508
c
2508
2516
D
2516

Correct Ans : A

Subject : Mathematics

32;'\5';(;24102 The angles of a quadrilateral are (3x)°, (3x +45)", (4x —4)" and (x)". The value of x is:

U TqHs & DIV (3%)°, (3x + 45)°, (dx — 4)° 3R (x)° T x BIAF

29°
A

29°

33°
B

33°

45°
C

45°
D 30°

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/49
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30°
Correct Ans : A

Subject : Mathematics

Q.No: 41  What would be your strategy for addressing the needs of blind learners?

2468462
e Renfial @) srazadarsii B g1 w7 % R eiuest oy @ gl
Alternate teaching-learning and assessment methods
A
At Rigr-siftm ok geaie Ry
Send the learners to a special educator
B
Rignfff ot te fadiv Rigre & o T
Offer them another subject in lieu of mathematics
Cc
TR & T S BIs S faw W
Pair them with high scores in mathematics
D

I3 T H I TR B aral § sigd

Correct Ans : A

Subject : Mathematics

Q.No: 42 The lesson plan means the detailed description which a teacher completes in

2468477
T8 FrorT &1 31 § T favgd faavur fof v Rierss T 91 Pl g
Indefinite period
A
S srafy
Definite period
B
it arafy
Full day
C
A
None of the given options
D

fau MU fomedi # § B T

Correct Ans : B

Subject : Mathematics

Q.No: 43 Sushma buy 2 liter 960ml milk and 1 liter 350 ml of oil. Find the ratio of milk to oil.
2469669

o A 2 ey 960 el g SR 1 oier 350 firch 9@ TieT! U I AT BT U i Pion

2:1
A

2:1

1:7
B

1:7

5:3
C

5:3

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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4:3
Correct Ans : C

Subject : Mathematics

Q.No: 44 Find the sum:14x + 10y - 12xy - 13, 18 - 7x - 10y + 8xy, 4xy

2469853
AN A PR 14X + 10y - 12xy - 13, 18 - 7x - 10y + 8xy, 4xy
7x + 20y + 24xy - 33
A
7x + 20y + 24xy - 33
7x + 24xy - 13
B
7x + 24xy - 13
7x + 20y + 18
C
7x + 20y + 18
7x + 5
D
7x+5

Correct Ans : D

Subject : Mathematics

Q.No: 45 Find the greatest common factor of 16pq, 4p3q¥(—q — 2 + 13). 24p3 g3

2469960
16p%, 4p3qX(~q —2 + 1), 24p* ¢ T G ST SHIME OIS T b |
4p®q

A
4piq
3p*q

B
3p'q
8pq

c
8piq
12piq

D
12p3q

Correct Ans : A

Subject : Mathematics

Q.No: 46 The ratio of the length of a school ground to its width is 5:2. If the width is 30 m. Then the length is:
2473340

TF G & AgH 3! 7918 IR ITS! AISTS &1 U 5:2 g1 I TgM i Jers 30 W, df da1s 31d Sifer
100 m

100 .
B 75 m
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/49
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75 .

50 m
C

50 Hl.

105 m
D

105 .

Correct Ans : B

Subject : Mathematics

Q.No: 47 100 rs. are divided between Sangeeta and Manish in the ratio 3:2. Find the amount Sangeeta gets.

2473433
100 ¥UY FEfiar SR T & g 3:2 & rgurd § aier 77| Siiar gR1 w0 1 Sl
Rs .80
A
80 %.
Rs .60
B
60 %.
Rs .40
C
4073,
Rs .70
D
70 %.

Correct Ans : B

Subject : Mathematics

.No: 48 1.1
(22473446 The ratio; : gis the same as:

B |
W=

& TAGET ¢

2:3
1:3

1:3
2:1

2:1
3:2

3:2
Correct Ans : D

Subject : Mathematics

Q.No: 49  Which is not true for lecture strategy in mathematics?
2475601

T H SIRSAT UM & oY S 1 el Tl 82
A Passive class
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 15/49
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fAfSra wen

Unpsychological

° R
Lack of motivation
c sreom a8 e
D It allow the audience maximum control of learning experience

g SRIP! B! WA & ogHa F Hfman o st

Correct Ans : D

Subject : Mathematics

Q.No: 50  Which is not related to affective domain?

2476004
FH YETAS SHF 9 efia T8 82
A Knowledge
I
B Characterization
Valueing
C
e i
Receiving
D
T

Correct Ans : A

Subject : Mathematics

Q.No: 51 Which two signs should be interchanged to make the given equation correct?

2479404
65+2-25+5x%x12=137
f&u 71T Wi 1 el S o o fobeT <1 el T 3 # s W =1ey?
65+2-25+5x12=137
+ and x
A
+ 9R x
< and +
B
+ R +
+ and x
C
+ 3R x
+ and -
D
+ 3R -

Correct Ans : C

Subject : Mathematics

Q.No: 52 Given interchanges: signs + and +, and numbers 6 and 4; then the valueof 6 + 2 x 7 + 4 - 3 is

2481024
2y T Sex (SMmu & wEe): g + ok 4, IR TWM6 R4, W6 +2x7+4-3FAAR
2

A
2
17

B
17
8

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 16/49
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15

15
Correct Ans : B

Subject : Mathematics

Q.No: 53 Who among the following psychologists is of the view that a learner can be motivated by satisfying his needs?
2481796
(A) Henry Murray

(B) Abraham Maslow

FrafEd Fam®! # 9 fruat faar ¢ & T Rl o1 3us! sravasdis &1 @@ Sa URd fear I I&d 82
(A) TR ™

(B) fsTeH Al
Only (A) is correct

A e (A) TR
Only (B) is correct
%o (B) W 2
Both (A) and (B) are correct
(A) 3R (B) 31l W1 €

Neither (A) nor (B) is correct

P T (A) IRAE (B) TE &
Correct Ans : C

Subject : Mathematics

Q.No: 54 Why is the knowledge of first-aid essential for a teacher ?

2482328
it fafasen @1 9 Riew & Re i smazas § 2
Students may need first-aid any time
A ST 1 R e s e 9 s & e ¥
Teacher needs it for his own health
B
e @ o Wred & T ST sz gt §
For the treatment of children, when they get injured in sports ground
C
W AqH & 999 8 R T=01 & 399 & g
D It increases the knowledge of a teacher
T & 1 99 S5

Correct Ans : A

Subject : Mathematics

Q.No: 55 Which is the most sensible idea about teaching and research?

2482444
fRreror oiR =Ny F TR H II9 gy AR FH AW {2
They are two entirely different kinds of activities
A 421 0 o & o SR 9 R
They cannot go together
° Yo T Ao
Thy are two sides of the same coin
c A d o 5 Qe ¥
D They interfere with each other
I N F I T TR T

Correct Ans : C

Subject : Mathematics

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Q.No: 56 Which one is more essential in the development of responsibility in pupil?
2482495

Nl & SwRea % e ¥ fou $F w1 ifis v 82

Home Work

A

TRUIs

Oral Work
B

AiEs o1

Self Study
c y

QY
D Drill Work

Faard

Correct Ans : C

Subject : Mathematics

Q.No: 57 The method based on scientific method is

2482503
IS UGd W sreied fafyr §
A Induction
Project
B
OGS
Laboratory
(o)
TRIATRITET
D Speech
HIyop

Correct Ans : C

Subject : Mathematics

Q.No: 58 Which questions are difficult to mark with reliability?
2482550

B Y uy fyeaa & @y ffga o ofea 22

Unstructured essay

A s e
Structured essay

° s P
Short answer

¢ e Srare

D Multiple type questions
A UDR & Uy

Correct Ans : A

Subject : Mathematics

Q.No: 59 20% of the 4/5th of a number is 60, find the number?
2483805

ot e &1 4/5 df ff BT 20%, 60 §, A 98 T F|1 8?2

AL
B 3
SR
> o

Correct Ans : B

Subject : Mathematics

Q.No: 60 A train at the first station drops one third of the passengers and takes 50 more. At the second station it drops half of the remaining passengers and takes
2483840 25 more. If there were 150 passengers left in the train now, how many passengers were there in the train at the starting point?
T 3 Uga W R UH-faers aifdl & Jar &l § SR 50 A1 31 3 Ackt ¥1 SATQ WA W 98 Y A1t BT Siell IR it § 3R 25 W &l & ol 31 3 89 & o
P 150 G W FI A LESAA H ST B S [ba A IR 4?2

200
A 200
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B 250

250
300
c 300
350
o 350

Correct Ans : C

Subject : Mathematics

Q.No: 61 What are 'keystone' species in an ecosystem?
2469345

The species that helps to define an entire ecosystem and whose elimination can seriously affect the ecosystem

A
T VST S U Sgul wiRfRuft oF ot uRediid e 7 Heg St 7 o et Sae nikiRifie @ o ik U 3 i o) 9o g
The species whose elimination can benefit and charge the ecosystem
B
3 el Rt SHET TR & B @y ge Soar § SR =l R 9ol 8
The species whose elimination would not affect the ecosystem
C
F vt ot SIae TR o &1 wifa e sem
The species which are found on rocky places and its elimination would not affect the ecosystem
D

T R TR U S aret yenfot o 39 SHEH § WRRURIE @3 W B1E T T e §

Correct Ans : A

Subject : Environmental Study

Q.No: 62 When can we classify waste as hazardous?
2470218

T HIR &I Y WRAS & T § Tl w2 qahd o-

When waste won’t cause any mortality

A
T TR Y IR T ot §
When waste increase mortality
B
S PR ¥ YR el
When waste decrease mortality
C
O FE Y FGeR T B
When waste decomposes itself without any aid
D

S Hai T fseht e & sroufed g waT §

Correct Ans : B

Subject : Environmental Study

Q.No: 63 Which one among the following is the strongest argument in favour of adopting a theme base approach in EVS?
2470335

ey & fawg snemRa eI M F ver H 999 Aved ad FEfifild § § sh-ar g

It helps in giving a structure to lesson plans and makes teaching more effective

A
g U1S TIeHIST $ TP WRaAT 34 & AeE Hval § iR Rigvr 3t 3ife yurdt s=mar @
It helps in making teaching more interesting and activity based
B
7% Rieor $i 3 s SR TR sk F97  Hee ST §
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C It helps in covering a wide range of concepts, issues and skills

g quRoTS, TRl AR BN 31 TF g o o FR I § 7eg Bl §

It helps in softening subject boundaries and accessing knowledge holistically

Ig fawg &1 Wl B /e S AR TH ST THI T fiba B § 7ag Sl &

Correct Ans : D

Subject : Environmental Study

Q.No: 64 Meaning of the word Heurisco is

2470400
TIREY ReE BT 3 §
To know
A
ST
To think
B
T
To learn
C
e
To discover
D

Qe
Correct Ans : D

Subject : Environmental Study

Q.No: 65 Which beard ape spends a major part of its life on the tree. It mainly feeds on fruits. It also eats seeds, young leaves, stems, flowers and buds. Since it
2470532 s aple to get sufficient food on the trees, it rarely comes down on the ground.

FIIT STET T TR S Sia BT TP F971 own 0 W dar 31 98 487 T F Bal R PRk w3ar 81 95 99, 391 w™, Iuh, B 3R St o) ot @ 81 3 a5 osh
R T HISH UG 31 H T&W 8, T8 WS §f P SHE TR IRl 81

Gorilla
A
et
Chimpanzee
B
lion-tailed macaque
[
R P! UF qIe HHTH
Indian Elephant
D

Ut gt
Correct Ans : C

Subject : Environmental Study

Q.No: 66 In which date and year Prime Minister Shri Narendra Modi launched Swacch Bharat Mission?
2470533

TuF T o Rz O 3 frw aiie o of A W yRad fiRE 9 o 312
2 October 2014

2 3agsR 2014
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 20/49
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B 2 October 2018

2 JaEER 2018

2 October 2020
C

2 3{dgaY 2020

2 October 2016
D

2 3dgar 2016
Correct Ans : A

Subject : Environmental Study

Q.No: 67 What term is used for the house on wheels, which can be moved from one place to another.
2470534

B39 3i i ¥ e ot <reg &1 Wil fasar o 7, o U M & gk ®IF W & 917 S 9l 31

Tent
A
aq
Kucchha Houses
B
A THH
Pucca Houses
C
T THH
Caravan
D
PRa

Correct Ans : D

Subject : Environmental Study

Q.No: 68 An automobile emissions control device use to prevent blow-by from crankcase by returning gases to the cylinders to be burned inside the engine instead
2472017 f being vented into the atmosphere is known as;

T SR Ioi FEA SUSROT B ITANT hebhd F sall-ar Bl A & g fovan < g, S Riciet o 71f &1 o F Sicx TIaI oF & §oi argrsd | 81 &ar §;

Positive crankcase ventilation (PVC)

A
THRIAP by dfeanH (Udh)
Gravity settling chamber
B
TE@THYY fUer He
Fabric filter
C
BUST ey
Plate precipitator
D

e Wit

Correct Ans : A

Subject : Environmental Study

Q.No: 69 Secondary pollutant include ozone which is formed when hydro carbon and nitrogen oxides.
2472072

fedias ugue! & 3ol WAE § f 99 41 § 9 gIgela- SR AgeieH Siiags fonddt ufifd & gga §-
A Oxygen
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SfifieH

Carbon dioxide

PSS AHlFES

Sunlight

o 31 UHT
Water

Sf

Correct Ans : C

Subject : Environmental Study

Q.No: 70 Some unusual egg laying mammals has remain unchanged since prehistoric times are called

2472396

TT A 33 3 A wHUR yRfieiRie wra & sufkafda 3@ §, weaa @

mesotremes

e

polytremes

et

peritremes

R

monotremes

USSR

Correct Ans : D

Subject : Environmental Study

Q.No: 71  When we eat food containing iron what do we get from that iron?

2472636

Tie ded g HISH 0T A A T UT il 27

Blood cell

TR S

Haemoglobin

g

Bone marrow

Y T

Protoplasma

P

Correct Ans : B

Subject : Environmental Study

Q.No: 72 Which of the following is the first ever galaxy observed in a blow-away state?

2474063
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fofafed & ¥ SH-3 ugd IeRIT § R sdl-3/ sfawr 7 @1 T 87

O0X 136
A

0X 136

POX 186
B

POX 186

0X 186
C

OX 186

POX 136
D

POX 136

Correct Ans : B

Subject : Environmental Study

Q.No: 73 Which of the following is a remote sensing Chinese satellite?

2474118

FofifEd # ¥ $1F 16 g Fagd I I8 82

Ziyuan
A

forgem

Viyuan
B

fagam

KinDhin
C

e

KimShin
D

foaiRA

Correct Ans : A

Subject : Environmental Study

Q.No: 74 Which of the following is an orbiting infrared observatory that will complement and extend the discoveries of the Hubble Space Telescope?
2474243

frofafaa & ¥ S T IREHH HRA Jrelt ST AU 8 S gad W ARG &I Wil &1 IR iR faar st

James Webb space telescope

A
S 99 WY TR
Australian radio telescope
B
iR Y
Spitzer Telescope
C
e ety
Keck 1 telescope
D

% 1 TP

Correct Ans : A

Subject : Environmental Study

MAIL I .t o Mmook et Al o Aol Mool o
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Q No: 75 vwnicn aay 1S tne 1I0Nngest aay 1n tne Norwnern nemispneres

2474258
T o7 It e © we o o g 77
21st May
A
217
21st June
B
2154
21st July
C
21 Jas
21st August
D
21 T

Correct Ans : B

Subject : Environmental Study

Q.No: 76  Which of the following is the largest saltwater lake in India?
2475743

Fafafed # 3 o1 yRa 9 @R U @1 Ted 99t i 82
Bhojtal lake

A
st gt
Jaisamand lake
B
S g
Hirakud lake
C
HS Fa
Chilika Lake
D

s sha
Correct Ans : D

Subject : Environmental Study

Q.No: 77 Which of the following is the largest soybean producing state in India?
2475771

fafafad & 9 o YRd ¥ a9 981 THEH Ided I 872

Uttar Pradesh

A
Epicl
Gujarat
B
Jorrd
West bengal
C
ufye S
Madhya Pradesh
D

A WS

Correct Ans : D
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Subject : Environmental Study

Q.No: 78 Sugarcane is also grown for biofuel production, as canes can be directly used to produce:

2475875

T S $eF ITed & forw oft I o ®, /ife @ BT IS [HaT S Tl &

ethyl alcohol

A
TURT SHeBled
propyl alcohol
B
HuIsa Sepige
propane
C
e
Glycerol
D
T

Correct Ans : A

Subject : Environmental Study

Q.No: 79 “Hopman Cup” is related to which sports?

2476503
"I FU Y BT & Tefid 32
Badminton
A
Ssfie
Hockey
B
el
Tennis
C
CRL
Football
D
psitd

Correct Ans : C

Subject : Environmental Study

Q.No: 80 In addition to Ping Pong, what is the other name of table tennis?
2476563

277 i & 3rarar a2 BT gERT A 9 82

Bounce-Bounce

A
TEE-T8Y
Pee-Wee
B
q-dt
Whiff-Whaff
C
femp-=6
D Ding-Dong
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&=
Correct Ans : C

Subject : Environmental Study

Q.No: 81 Cooperative learning
2477252
i) Supports academic progress
i} improves social skills of young learners

Choose the correct code

weartt SfteT -

i) APTEHS T BT 99T BT §

ii) gar et & e S § YUR 1§
el DI I

i) only

i) Faa

i) only

ii) $aa
Both i) and ii)

i) 3R i) S

Neither i) norii)

Fariy T
Correct Ans : C

Subject : Environmental Study

Q.No: 82 What are the limitations of group discussion?
2477287

g Uil 31 G w87

it take place accidentally
A

T SEFS A BT ®

it is time consuming
B

T B! G T §

planning is not required to various forms of discussion
C

Tt & afofye Ui & g domT S @ Saaeal TE &

quite easy does not require thorough preparations
D

BB S § 39T G Gur #t srazamar T8 §

Correct Ans : B

Subject : Environmental Study

Q.No: 83 As a teacher your role is not only to ‘teach’ subjects but also :

2477370

& Re® & wu T omua! yfiiet 7 Faw fawdi 31 Ram &1 § afcs

Learning

i

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

i g

26/49
Page - 26



B getting anxious

feifdra g

Being uncomfortable
C

3RYES g

Following
D

SR BRAT

Correct Ans : A

Subject : Environmental Study

Q.No: 84 Which of the following types of pollution does not have a direct impact on global warming?
2477894

40 A q 59 THR & UG B Yisdia SIS (Faa aiif) R Her uuig & gsar 27

Air pollution

A

arg ugHur

Land pollution
B

¥ wgm

Water pollution
C

T T

Noise pollution
D

i uguur
Correct Ans : D

Subject : Environmental Study

Q.No: 85 The cluster of dwellings of any type or size where human beings live is called what?
2477941

et oft TR o1 PR & AT S THE el AT I §, T HEA 27

Urbanization

A
Tl
Ruralization
B
grfiofie
Population
C
S
Human Settlement
D

aHg ST

Correct Ans : D

Subject : Environmental Study

Q.No: 86 How many member countries are there in OPEC?
2477984

3% (OPEC) T fba Wew 3w €2
A 12
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12
13

13
11

11
15

15

Correct Ans : B

Subject : Environmental Study

Q.No: 87 1If there is a huge number of children who are to be assessed, but within a limited time, then which of the following tools should a teacher employ?

2478662

1.Questionnaire

2.Interview

Choose the correct code -

e 931 Tem # W 7= § FoFa enea o 5 €, dfe ue <ifd wma & iR, e 31 Fofated § 3§ 59 Sueor 1 SugnT a1 91ige?

19Tt
2.91&THR
TE IS G -
only 1

Fad 1

Only 2

Fad 2

Neither 1 nor 2

a1 eiRAE 2
Either 1 or 2

qaLar2

Correct Ans : A

Subject : Environmental Study

Q.No: 88 Which of the following can be said to be structurally and conceptually opposite to tree-charts?

2478692

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

fafaaa # 9 5 WRaTdre iR STURUIES 9 I g&f-91¢ & [Juid Hel o T 82

Process charts

Afspar =

Stream charts

Targ ae

Time charts

JHIHI A

Tabular charts

28/49
Page - 28



IRiles T

Correct Ans : B

Subject : Environmental Study

Q.No: 89
2478703

Which of the following is NOT a tool of Assessment?

fafafaa & 9 S sTHad $T IUST a1 32
Checklist

Ipiere

Entry and Exit Cards

A SR o™ a1

Experimentation

TRt

Role-plays

Jd-w

Correct Ans : C

Subject : Environmental Study

Q.No: 90 Which of the following has hindered the achievement of the objective of holistic development of learners?

2478708

Pofafea § 3 e Rienfial & a9 G & St o Wit ¥ 9141 37 &t 82

giving more stress on evaluating children’s abilities in scholastic areas

Ay & F =t Bt IS F eaiw W SHRE §q

giving more stress on evaluating children’s abilities in co-scholastic areas

Te-RMerw &= ¥ vt 3 et & gedio R 4 Tq 3

giving more stress on evaluating children’s abilities in cognitive area

TS &5 B gl Bt el & Gedie | e SR &

giving more stress on evaluating children’s abilities in non-cognitive areas

R-TTFIED & B Tt BT sl % el W S SR

Correct Ans : A

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.

I died for beauty, but was scarce

Adjusted in the tomb,

When one who died for truth was lain

In an adjoining room.

He questioned softly why I failed?

"For beauty," I replied.

"And I for truth - the two are one;

We brethren are," he said.

And so, as kinsmen met a-night,
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We talked between the rooms,
Until the moss had reached our lips,

And covered up our names.

Q.No: 91 Which of the following is the most suitable title for the given poem?

A I died for beauty but was scarce
B Before death

C Between two dangers

D Fault in our stars

Correct Ans : A
Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

I died for beauty, but was scarce
Adjusted in the tomb,

When one who died for truth was lain
In an adjoining room.

He questioned softly why I failed?
"For beauty," I replied.

"And I for truth - the two are one;
We brethren are," he said.

And so, as kinsmen met a-night,
We talked between the rooms,

Until the moss had reached our lips,

And covered up our names.

Q.No: 92 What is the ultimate effect of the given poem?

A people believe whatever they want to believe despite the truth
B people lie to one another in several ways

[ to show that every aspect of human life is erased by death

D to show us that death is not a big deal for humans

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

I died for beauty, but was scarce
Adjusted in the tomb,

When one who died for truth was lain
In an adjoining room.

He questioned softly why I failed?
"For beauty," I replied.

"And I for truth - the two are one;
We brethren are," he said.

And so, as kinsmen met a-night,
We talked between the rooms,

Until the moss had reached our lips,

And covered up our names.
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Q.No: 93 ‘We talked between the rooms’. Which part of speech is the word ‘between’ in the given line of the poem?

A adverb

B preposition
C determiner
D conjunction

Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
I died for beauty, but was scarce
Adjusted in the tomb,

When one who died for truth was lain
In an adjoining room.

He questioned softly why I failed?
"For beauty," I replied.

"And I for truth - the two are one;
We brethren are," he said.

And so, as kinsmen met a-night,

We talked between the rooms,

Until the moss had reached our lips,

And covered up our names.

Q.No: 94 What does the word ‘brethren’ mean in the given poem?

A an authoritative demand

B people belonging to a particular group
C confidently optimistic and cheerful

D full of anxiety and concern

Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
I died for beauty, but was scarce
Adjusted in the tomb,

When one who died for truth was lain
In an adjoining room.

He questioned softly why I failed?
"For beauty," I replied.

"And I for truth - the two are one;
We brethren are," he said.

And so, as kinsmen met a-night,

We talked between the rooms,

Until the moss had reached our lips,

And covered up our names.

Q.No: 95 Which of the following is opposite in meaning to the word ‘scarce’ in the given poem?

A scant

<snarca
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—prran o

B
C ample
D limited

Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

I died for beauty, but was scarce
Adjusted in the tomb,

When one who died for truth was lain
In an adjoining room.

He questioned softly why I failed?
"For beauty," I replied.

"And I for truth - the two are one;
We brethren are," he said.

And so, as kinsmen met a-night,
We talked between the rooms,

Until the moss had reached our lips,

And covered up our names.

Q.No: 96 Why did the speaker fail?

A for beauty

B for a tomb

(e by not desiring more in life
D by the mere nature on death

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

I died for beauty, but was scarce
Adjusted in the tomb,

When one who died for truth was lain
In an adjoining room.

He questioned softly why I failed?
"For beauty," I replied.

"And I for truth - the two are one;
We brethren are," he said.

And so, as kinsmen met a-night,
We talked between the rooms,

Until the moss had reached our lips,

And covered up our names.

Q.No: 97 ‘Until the moss had reached our lips’. What does the word *moss’ refer to in the given line of the poem?

A a green or yellow plant that grows especially in wet earth or on rocks, walls, and tree trunks
B having or revealing little emotion or sensibility

C quiet and caution and secrecy

D a feeling of anger

Correct Ans : A
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Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Julius Rosenberg and Ethel Rosenberg were American citizens who were convicted of spying on behalf of the Soviet Union. The couple were convicted of providing
top-secret information about radar, sonar, jet propulsion engines and valuable nuclear weapon designs (at that time the United States was the only country in the
world with nuclear weapons). Convicted of espionage in 1951, they were executed by the federal government of the United States in 1953 at Sing Sing Correctional
Facility in Ossining, New York, becoming the first American civilians to be executed for such charges and the first to receive that penalty during peacetime. Other
convicted co-conspirators were sentenced to prison, including Ethel's brother, David Greenglass (who had made a plea agreement), Harry Gold, and Morton Sobell.
Klaus Fuchs, a German scientist working in Los Alamos, was convicted in the United Kingdom.

For decades, the Rosenbergs' sons (Michael and Robert Meeropol) and many other defenders maintained that Julius and Ethel were innocent of spying on their
country and were victims of Cold War paranoia. After the fall of the Soviet Union, much information concerning them was declassified, including a trove of decoded
Soviet cables (code-name: Venona), which detailed Julius's role as a courier and recruiter for the Soviets. Ethel's role was as an accessory who helped recruit her
brother David into the spy ring and did clerical tasks such as typing up documents that Julius then passed to the Soviets. In 2008, the National Archives of the
United States published most of the grand jury testimony related to the prosecution of the Rosenbergs. Julius Rosenberg joined the Army Signal Corps Engineering
Laboratories at Fort Monmouth, New Jersey in 1940, where he worked as an engineer-inspector until 1945, He was discharged when the U.S. Army discovered his
previous membership in the Communist Party. Important research on electronics, communications, radar and guided missile controls was undertaken at Fort
Monmouth during World War II.

Q.No: 98 Information was undertaken at Fort Monmouth during World War II. What type of information was not stolen from Fort Monmouth?

A guided missile controls

B electronics and communications

C radar

D president’s and CIA’s stealth documents

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Julius Rosenberg and Ethel Rosenberg were American citizens who were convicted of spying on behalf of the Soviet Union. The couple were convicted of providing
top-secret information about radar, sonar, jet propulsion engines and valuable nuclear weapon designs (at that time the United States was the only country in the
world with nuclear weapons). Convicted of espionage in 1951, they were executed by the federal government of the United States in 1953 at Sing Sing Correctional
Facility in Ossining, New York, becoming the first American civilians to be executed for such charges and the first to receive that penalty during peacetime. Other
convicted co-conspirators were sentenced to prison, including Ethel's brother, David Greenglass (who had made a plea agreement), Harry Gold, and Morton Sobell.
Klaus Fuchs, a German scientist working in Los Alamos, was convicted in the United Kingdom.

For decades, the Rosenbergs' sons (Michael and Robert Meeropol) and many other defenders maintained that Julius and Ethel were innocent of spying on their
country and were victims of Cold War paranoia. After the fall of the Soviet Union, much information concerning them was declassified, including a trove of decoded
Soviet cables (code-name: Venona), which detailed Julius's role as a courier and recruiter for the Soviets. Ethel's role was as an accessory who helped recruit her
brother David into the spy ring and did clerical tasks such as typing up documents that Julius then passed to the Soviets. In 2008, the National Archives of the
United States published most of the grand jury testimony related to the prosecution of the Rosenbergs. Julius Rosenberg joined the Army Signal Corps Engineering
Laboratories at Fort Monmouth, New Jersey in 1940, where he worked as an engineer-inspector until 1945. He was discharged when the U.S. Army discovered his
previous membership in the Communist Party. Important research on electronics, communications, radar and guided missile controls was undertaken at Fort
Monmouth during World War II.

Q.No: 99 Who was Ethel’s brother among the other convicted co-conspirators who were sentenced to prison?

A Harry Gold

B David Greenglass
Cc Morton Sobell

D Klaus Fuchs

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Julius Rosenberg and Ethel Rosenberg were American citizens who were convicted of spying on behalf of the Soviet Union. The couple were convicted of providing
top-secret information about radar, sonar, jet propulsion engines and valuable nuclear weapon designs (at that time the United States was the only country in the
world with nuclear weapons). Convicted of espionage in 1951, they were executed by the federal government of the United States in 1953 at Sing Sing Correctional
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Facility in Ossining, New York, becoming the first American civilians to be executed for such charges and the first to receive that penalty during peacetime. Other
convicted co-conspirators were sentenced to prison, including Ethel's brother, David Greenglass (who had made a plea agreement), Harry Gold, and Morton Sobell.
Klaus Fuchs, a German scientist working in Los Alamos, was convicted in the United Kingdom.

For decades, the Rosenbergs' sons (Michael and Robert Meeropol) and many other defenders maintained that Julius and Ethel were innocent of spying on their
country and were victims of Cold War paranoia. After the fall of the Soviet Union, much information concerning them was declassified, including a trove of decoded
Soviet cables (code-name: Venona), which detailed Julius's role as a courier and recruiter for the Soviets. Ethel's role was as an accessory who helped recruit her
brother David into the spy ring and did clerical tasks such as typing up documents that Julius then passed to the Soviets. In 2008, the National Archives of the
United States published most of the grand jury testimony related to the prosecution of the Rosenbergs. Julius Rosenberg joined the Army Signal Corps Engineering
Laboratories at Fort Monmouth, New Jersey in 1940, where he worked as an engineer-inspector until 1945. He was discharged when the U.S. Army discovered his
previous membership in the Communist Party. Important research on electronics, communications, radar and guided missile controls was undertaken at Fort
Monmouth during World War II.

Q.No: 100 Who among the following conspirators also made a plea agreement?

A Michael

B Robert Meeropol

C Julius Rosenberg
D David Greenglass

Correct Ans : D
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Julius Rosenberg and Ethel Rosenberg were American citizens who were convicted of spying on behalf of the Soviet Union. The couple were convicted of providing
top-secret information about radar, sonar, jet propulsion engines and valuable nuclear weapon designs (at that time the United States was the only country in the
world with nuclear weapons). Convicted of espionage in 1951, they were executed by the federal government of the United States in 1953 at Sing Sing Correctional
Facility in Ossining, New York, becoming the first American civilians to be executed for such charges and the first to receive that penalty during peacetime. Other
convicted co-conspirators were sentenced to prison, including Ethel's brother, David Greenglass (who had made a plea agreement), Harry Gold, and Morton Sobell.
Klaus Fuchs, a German scientist working in Los Alamos, was convicted in the United Kingdom.

For decades, the Rosenbergs' sons (Michael and Robert Meeropol) and many other defenders maintained that Julius and Ethel were innocent of spying on their
country and were victims of Cold War paranoia. After the fall of the Soviet Union, much information concerning them was declassified, including a trove of decoded
Soviet cables (code-name: Venona), which detailed Julius's role as a courier and recruiter for the Soviets. Ethel's role was as an accessory who helped recruit her
brother David into the spy ring and did clerical tasks such as typing up documents that Julius then passed to the Soviets. In 2008, the National Archives of the
United States published most of the grand jury testimony related to the prosecution of the Rosenbergs. Julius Rosenberg joined the Army Signal Corps Engineering
Laboratories at Fort Monmouth, New Jersey in 1940, where he worked as an engineer-inspector until 1945. He was discharged when the U.S. Army discovered his
previous membership in the Communist Party. Important research on electronics, communications, radar and guided missile controls was undertaken at Fort
Monmouth during World War II.

Q.No: 101 Which of the following statements is NOT correct here according to the given passage?

A Robert Meeropol was the first American civilians to be executed for espionage during the peacetime
B a German scientist working in Los Alamos was convicted in the UK

C many defenders maintained that Julius and Ethel were innocent of spying on their country

D Ethel's role was as an accessory

Correct Ans : A
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Julius Rosenberg and Ethel Rosenberg were American citizens who were convicted of spying on behalf of the Soviet Union. The couple were convicted of providing
top-secret information about radar, sonar, jet propulsion engines and valuable nuclear weapon designs (at that time the United States was the only country in the
world with nuclear weapons). Convicted of espionage in 1951, they were executed by the federal government of the United States in 1953 at Sing Sing Correctional
Facility in Ossining, New York, becoming the first American civilians to be executed for such charges and the first to receive that penalty during peacetime. Other
convicted co-conspirators were sentenced to prison, including Ethel's brother, David Greenglass (who had made a plea agreement), Harry Gold, and Morton Sobell.
Klaus Fuchs, a German scientist working in Los Alamos, was convicted in the United Kingdom.

For decades, the Rosenbergs' sons (Michael and Robert Meeropol) and many other defenders maintained that Julius and Ethel were innocent of spying on their
country and were victims of Cold War paranoia. After the fall of the Soviet Union, much information concerning them was declassified, including a trove of decoded
Soviet cables (code-name: Venona), which detailed Julius's role as a courier and recruiter for the Soviets. Ethel's role was as an accessory who helped recruit her
brother David into the spy ring and did clerical tasks such as typing up documents that Julius then passed to the Soviets. In 2008, the National Archives of the
United States published most of the grand jury testimony related to the prosecution of the Rosenbergs. Julius Rosenberg joined the Army Signal Corps Engineering
Laboratories at Fort Monmouth, New Jersey in 1940, where he worked as an engineer-inspector until 1945. He was discharged when the U.S. Army discovered his
previous membership in the Communist Party. Important research on electronics, communications, radar and guided missile controls was undertaken at Fort
Monmouth during World War II.
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Q.No: 102 '‘The couple were convicted of providing top-secret information. Which part of speech is the word ‘top-secret’ in the given line of the passage?

A noun

B verb

(o} adjective

D determiner

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Julius Rosenberg and Ethel Rosenberg were American citizens who were convicted of spying on behalf of the Soviet Union. The couple were convicted of providing
top-secret information about radar, sonar, jet propulsion engines and valuable nuclear weapon designs (at that time the United States was the only country in the
world with nuclear weapons). Convicted of espionage in 1951, they were executed by the federal government of the United States in 1953 at Sing Sing Correctional
Facility in Ossining, New York, becoming the first American civilians to be executed for such charges and the first to receive that penalty during peacetime. Other
convicted co-conspirators were sentenced to prison, including Ethel's brother, David Greenglass (who had made a plea agreement), Harry Gold, and Morton Sobell.
Klaus Fuchs, a German scientist working in Los Alamos, was convicted in the United Kingdom.

For decades, the Rosenbergs' sons (Michael and Robert Meeropol) and many other defenders maintained that Julius and Ethel were innocent of spying on their
country and were victims of Cold War paranoia. After the fall of the Soviet Union, much information concerning them was declassified, including a trove of decoded
Soviet cables (code-name: Venona), which detailed Julius's role as a courier and recruiter for the Soviets. Ethel's role was as an accessory who helped recruit her
brother David into the spy ring and did clerical tasks such as typing up documents that Julius then passed to the Soviets. In 2008, the National Archives of the
United States published most of the grand jury testimony related to the prosecution of the Rosenbergs. Julius Rosenberg joined the Army Signal Corps Engineering
Laboratories at Fort Monmouth, New Jersey in 1940, where he worked as an engineer-inspector until 1945. He was discharged when the U.S. Army discovered his
previous membership in the Communist Party. Important research on electronics, communications, radar and guided missile controls was undertaken at Fort
Monmouth during World War II.

Q.No: 103 ‘Who were convicted of spying’. Which of the following is nearest in meaning to the word ‘convict’ in the given line?

A liberate
B release
C angry

D sentence

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Julius Rosenberg and Ethel Rosenberg were American citizens who were convicted of spying on behalf of the Soviet Union. The couple were convicted of providing
top-secret information about radar, sonar, jet propulsion engines and valuable nuclear weapon designs (at that time the United States was the only country in the
world with nuclear weapons). Convicted of espionage in 1951, they were executed by the federal government of the United States in 1953 at Sing Sing Correctional
Facility in Ossining, New York, becoming the first American civilians to be executed for such charges and the first to receive that penalty during peacetime. Other
convicted co-conspirators were sentenced to prison, including Ethel's brother, David Greenglass (who had made a plea agreement), Harry Gold, and Morton Sobell.
Klaus Fuchs, a German scientist working in Los Alamos, was convicted in the United Kingdom.

For decades, the Rosenbergs' sons (Michael and Robert Meeropol) and many other defenders maintained that Julius and Ethel were innocent of spying on their
country and were victims of Cold War paranoia. After the fall of the Soviet Union, much information concerning them was declassified, including a trove of decoded
Soviet cables (code-name: Venona), which detailed Julius's role as a courier and recruiter for the Soviets. Ethel's role was as an accessory who helped recruit her
brother David into the spy ring and did clerical tasks such as typing up documents that Julius then passed to the Soviets. In 2008, the National Archives of the
United States published most of the grand jury testimony related to the prosecution of the Rosenbergs. Julius Rosenberg joined the Army Signal Corps Engineering
Laboratories at Fort Monmouth, New Jersey in 1940, where he worked as an engineer-inspector until 1945. He was discharged when the U.S. Army discovered his
previous membership in the Communist Party. Important research on electronics, communications, radar and guided missile controls was undertaken at Fort
Monmouth during World War II.

Q.No: 104 ‘The United States was the only country in the world with nuclear weapons’. Which part of speech is the word ‘only’ in the given line?

A adverb

B preposition
C determiner
D adjective

Correct Ans : D
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Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Julius Rosenberg and Ethel Rosenberg were American citizens who were convicted of spying on behalf of the Soviet Union. The couple were convicted of providing
top-secret information about radar, sonar, jet propulsion engines and valuable nuclear weapon designs (at that time the United States was the only country in the
world with nuclear weapons). Convicted of espionage in 1951, they were executed by the federal government of the United States in 1953 at Sing Sing Correctional
Facility in Ossining, New York, becoming the first American civilians to be executed for such charges and the first to receive that penalty during peacetime. Other
convicted co-conspirators were sentenced to prison, including Ethel's brother, David Greenglass (who had made a plea agreement), Harry Gold, and Morton Sobell.
Klaus Fuchs, a German scientist working in Los Alamos, was convicted in the United Kingdom.

For decades, the Rosenbergs' sons (Michael and Robert Meeropol) and many other defenders maintained that Julius and Ethel were innocent of spying on their
country and were victims of Cold War paranoia. After the fall of the Soviet Union, much information concerning them was declassified, including a trove of decoded
Soviet cables (code-name: Venona), which detailed Julius's role as a courier and recruiter for the Soviets. Ethel's role was as an accessory who helped recruit her
brother David into the spy ring and did clerical tasks such as typing up documents that Julius then passed to the Soviets. In 2008, the National Archives of the
United States published most of the grand jury testimony related to the prosecution of the Rosenbergs. Julius Rosenberg joined the Army Signal Corps Engineering
Laboratories at Fort Monmouth, New Jersey in 1940, where he worked as an engineer-inspector until 1945, He was discharged when the U.S. Army discovered his
previous membership in the Communist Party. Important research on electronics, communications, radar and guided missile controls was undertaken at Fort
Monmouth during World War II.

Q.No: 105 ‘Which detailed Julius's role as a courier and recruiter for the Soviets’. Which of the following is opposite in meaning to the word ‘detailed’ in the given
line?

A accurate
B precise

C brief

D definite
Correct Ans : C

Subject : English Language 02

Q.No: 106 Which of the following was basically replaced by Communicative Language Teaching?

A structural teaching

B natural language processing
C situational language teaching
D motivational teaching

Correct Ans : A

Subject : English Language 02

Q.No: 107 Cognitive code approach generally focuses more on which of the following?

A vocabulary

B grammar rules
C pronunciation
D spellings

Correct Ans : B

Subject : English Language 02

Q.No: 108 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

John really ran fast, he still did not win the race.
despite
though

in spite

o 0O W >

and
Correct Ans : B

Subject : English Language 02

Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.
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Anita looked it in the dictionary, but she still doesn’t understand it.

A up

B over
C after
D from

Correct Ans : A
Subject : English Language 02

Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

We were unable to get funding and had to abandon the project.
A therefore
B eventual
¢ normal
D effective

Correct Ans : A

Subject : English Language 02

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

Mysteriously, the light came on, no one was near the switch.
A despite
B although
C instead
D in spite

Correct Ans : B

Subject : English Language 02

Q.No: 112 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

I'd rather sleep on a mattress than a soft one.
A brave
B secure
[ firm
D deep
Correct Ans : C
Subject : English Language 02

Q.No: 113 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

The stars were shining

A chilly

B brightly
C very

D never

Correct Ans : B

Subject : English Language 02

Q.No: 114 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

She looked really sad she'd had some bad news.
but
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A

B yet

C still
D as if
Correct Ans : D

Subject : English Language 02

Q.No: 115 During listening to a poem, a learner is primarily meant for improving their a===222244

A Knowledge skills
B Speaking skills
C Listening skills
D Reading skills

Correct Ans : C
Subject : English Language 02

Q.No: 116 The use of comprehensive listening is possible if we are able to use it in —

A None of the given choice
B Appropriate vocabulary
C language skills

D Both of the given choices

Correct Ans : D

Subject : English Language 02

Q.No: 117 Which of the following statements is/are true?

A many times children read in low murmuring

B spellings and pronunciation of the words is a big challenge for the teacher
C both of the given options

D None of the given options

Correct Ans : C

Subject : English Language 02

Q.No: 118 To teach the action verbs, the teacher mimics the actions. Which method of teaching did she adopt?

A The silent way

B The direct method

C The indirect method

D Total Physical Response

Correct Ans : D

Subject : English Language 02

Q.No: 119 Which of the statements is not true about Remedial teaching?

A Remedial teaching is an integral part of language learning.

B Slow learners and fast learners are differentiated.

(o} Academic background of students is necessary.

D Planned remedial diagnosis and lessons are required from time to time

Correct Ans : C

Subject : English Language 02

Q.No: 120 A teacher divides her class into groups for addressing the difficult areas of the subject matter. Each group has 6 students (one outstanding, one

intelligent, two average and two slow learners). Which strategy of remedial teaching does she use?
Individualized educational program
Support program

Reward program

o 0O w >

None of the above

Correct Ans : B
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Subject : English Language 02

Q.No: 121 Which of the following is predominant a heredity related factor?

2473741
1 & @ e Gdt ves gor w9 B-a E -
Participation in social activities
A
e Tffafir & urfier
Attitude towards peer groups
B
W g ¥ R R
Thinking pattern
C
RiEEkakical
Colour of eyes
D

Siral &1 /T
Correct Ans : D

Subject : Child Developement

Q.No: 122 Which of the characteristics are studied in rating scale method?

2473839
FAeior wrot (fET A # araw & e ol T stem foR ST 82
Personal traits
A
faaa e B
Family background
B
Tiiae geyfH o1
School environment
C
THe qIaTaRY BT
Siblings and friends
D

TR T iR 31
Correct Ans : A
Subject : Child Developement

Q.No: 123 While teaching Science, a question is asked to student by the teacher and teacher got nearly half correct answer. Then how should teacher read to

2474361 gt dent

o verd THy e gR1 3E J T UY YBT 41 § 3R Rers $F aH St wet I | 6 fRied 3 oH 59 @wRe e 9wy

Student should be scolded

A
B FI e AT
Answer should be neglected and next student should be asked
B
FWR T e F AET AR SR 1S B | gE AIRY
Student should be appreciated for this effort
C
9 TN F T ol 3t Wi 3t 9 Ay
D Another chance may be given to students
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BEI B T 3R et i3 o gl &

Correct Ans : C

Subject : Child Developement

Q.No: 124 when a response continues to fail to produce drive reduction, it is permanently suppressed via

2474405
W9 F1g idfeha, S5d | B IO HA H fId el §, AT & Mem I ®Ef T § g9 & o g1
reactive inhibition
A
Ufafsarees sy
latent inhibition
B
el sy
conditioned inhibition
C
SR Sy
higher order inhibition
D

JE PIfe Ry

Correct Ans : C

Subject : Child Developement

Q.No: 125 Which of these statement is incorrect?

2474465

Froaffed § 3 $9-9 FuF Tod 87

one’s own emotion and expression or repression of it affects one’s perception of emotion in others
A

T3t it oot e SR aifeafdRT AT IT S gERT § UGS B YR By FRar §

pattern of overt emotional behavior include obstruction, approach, retreat and stopping of response
B

T Y SHaeR & Uer | a1, ERei, G ge ik widfhar & A Wit §

emotions start as general excitement due to intense stimulation
C

W SAST & SR UGN GHIFT ST &6 Y F T g1t §

conditioning and imitation does not influence emotional behavior
D

ST SR SRH UIGIHS SIGR b1 G TaT el §
Correct Ans : D
Subject : Child Developement

Q.No: 126 The statement “Every learner is unique.” means that

2474510
T8 U T Rl orfgchta 3 &7 anf B
it is not possible to develop the learners’ potential in a heterogeneous class
A
forerer memalt & Rranfefa &t et R s e 6T 8
learners do not share common goals
B
e v W wed A T IR
C making a common curriculum for all learners in a class is impossible
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Fem & gt faeniidt & R v TuH Wieussd AT SR §

no two learners are alike in their capabilities, interests, and talent

BIE ot ) o TR e, R SR wfr B T S T E 86
Correct Ans : D

Subject : Child Developement

Q.No: 127 Which of the following best describes Maslow’s concept of self-actualization?

2474526
Fafafaa & § SF-91 AR St Ahedn sreryfa 1 aofF v 32
The need to protect one’s self-image/jpg through self-deception
A
e P R B ST B BT &M IR B SITDl
The need to develop one’s potential fully
B
S amrarelt Bl Ol ok fosRa o9 3t sraasar
Self-actualization
C
ST
The need to protect security
D

TRET BT o=
Correct Ans : B

Subject : Child Developement

Q.No: 128 The least justifiable use of the results of a standardized reading test is to

2474594
TF AF@IHd Ua- Te & URomi &1 gHaq <mifad Suan §:
Evaluate the reading instruction programme
A
Y& &= FRicH &1 g B
Serve as a basis for report card marks
B
i FT8 il F SMUR & QU § BRI BT
Serve as a basis for parent conference
C
SHrHTaS FEH & SR & &Y & TGN ST
Serve as a basis for making groups in the class
D

T H g FTH & T MR & T & IR BT

Correct Ans : B

Subject : Child Developement

Q.No: 129 For a graduate, clearing the B.Ed or Journalism entrance examinations is an example of which of the following?
2476861

[ae ¥ o, &t.us a1 wwiiar vam udien Sl s Faffdd § 3 e Same 87

short term
A

Y 3@y

long term
B

Srefafy
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C permanent

Tyt

personal

AT
Correct Ans : A

Subject : Child Developement

Q.No: 130 As a teacher, how do you choose to determine the mental readiness of your student?
2476869

o e & T H, 37 0 oF B ARG TaRt 1 Ry $3 Ha §2

By giving them huge amount of homework

A
F2 UK HE § EH So]
By including them into the sports team
B
I% O A F Tt IR
By gathering knowledge of a child's emotional and intellectual development
(o)
T F HITHS 3R NS BN F1 99 355 &
By talking to their parents.
D

TP HII-aT 9 SRS

Correct Ans : C

Subject : Child Developement

Q.No: 131 Which of the following learning methods is NOT considered as meaningful in daily life?
2476912

FrafeieT & 3 1 @ o 3 Al 3 Sfem & srfqef el A s 82

Field assignment

A

TS SrRITETHE

Visit to a public place
B

wdeE WH R fafte ¥ s

Debate on social issues
C

I TEf R 989

Purely theoretical lecture
D

s w0 3 Isife aremm
Correct Ans : D

Subject : Child Developement

Q.No: 132 Which of the following statements is NOT true?

2476919

Fofafad o ¥ I S 9 T2 82

Maintaining a daily diary by the children is a waste of time
A

Tl gR1 3 S TE THg ) weid &
B The teacher should ask the children questions on their work
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g & Tl ¥ I75 S W Hard Y1 difel

The teacher should motivate the children to reflect on their work

Rreres ) =1fRT i a8 s=il &Y I B R Riad Fe & Rig g =X

The children should share their reflection with friends

el B Siae T SRl & WY e B ey
Correct Ans : A
Subject : Child Developement

Q.No: 133 Which of the following is NOT true about the Mental state of the Learner?

2477062

Fofafed ¥ 3 o1 el 3 make R F R A s 7 2

If the learner is mentally healthy, then he will show full participation and involvement in learning activities.
A

ffrTreat AR U d R ERT < a5 e afafafd & quiey & il ud Setar S geRi o

In case of good mental health, the learner himself will try to concentrate his attention and achieve success.
B

TFRE W & ad g @1 Ry & siftrmeal Fad S S-iadxur &1 TR S aUl GHadl B I ST

When the mental health is good, the learning process of the learner will be effective.
C

THARE W & 99 T W SRSl B S viesal wuidt w0 ¥ w3 gt

High level of mental health is inversely proportional to effective result
D

AR W &1 9 KR THIE URUT 3 SIebwIqur gl 3

Correct Ans : D

Subject : Child Developement

Q.No: 134 Prenatal period is

2477103
TS SFF S 7d I 3@l §
The first 4 weeks after conception
A
THYM ¥ U5 4 T8
The entire term between conception and birth
B
THfur 3R 571 & e &1 gl sedea
The last 4 weeks before birth
C
T URd & el 4 TR
None of the given options
D

Ry e Ripedi & § S 78

Correct Ans : B

Subject : Child Developement

Q.No: 135 According to the United Nations (UN) Guidelines for the Prevention of Juvenile Delinquency, which of the following is the central unit responsible for the
2477716 primary socialization of children?

PRI a1y Bt Ay & U Gga Y RFE Y & SR, =i & urifis rriaxy & g Fafafed § 3 o9 0 S 3o ER 82
A School
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Family
B
far
Both school and family
C
foanerg oiR wfkar Gt
Neither school nor family
D

7 femem 7 aiar

Correct Ans : B

Subject : Child Developement

Q.No: 136 Which of the following is NOT a reason for child-delinquency?

2477779
Froffed § 3 S a1 SuER 1 $RU T ¥2
Economic reasons
A
e HRoT
Social reasons
B
IS SR
Ecological reasons
C
uifRufde SR
Psychological reasons
D

TS BRI

Correct Ans : C

Subject : Child Developement

Q.No: 137 1In a school, the teacher watches that a 5 years old girl child, P is not interested in playing with other children and she cannot follow simple instructions.
2478279 what should the teacher do?

TF a7, e 39a1 3 5 o 5 9 3t w=fl, P &1 3 w=l & I Qen A B faawdt T § ok 98 Wa A &1 urer A ) Tl 71 e B @ s agee

Ask the girl not to come to the school

A
TSH! BT R T M & g HE
Ask her parents to persuade their child to follow instructions of the school
B
IS AT & S0 T F G F M BT U B & 1T T F Y 8
Adyvice the school authority to exclude the child from the class and give her training
C
T P P& F TR FA SR S WG 37 & g Tga mieRr $ ware §
Identify the child as a child with special needs and assess the quantum of assistance required by her
D

T Bl [P Saxgddr ad = F TU H UgaM R SYF gRT AT TSl B HE BT BT B

Correct Ans : D

Subject : Child Developement

Q.No: 138 Teachers may use the part-learning process rather than mass practice for the -------------==-------- children.
2478412
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Creative
A

XITHD

Talented
B

ufaTa

Average
C

hed

Slow learners
D

ot < arer Riemdf
Correct Ans : D
Subject : Child Developement

Q.No: 139 Which schools are an additional model which shows evidence of John Dewey’s theories in classrooms in the 21st century?
2479497

P I Ta U fifad oiga § o 21 T § wenait F Wi f5dt & Rigidl o1 v i §2

Waldorf
A
T
Kindergarten
B
freuméa
CBSE
C
Hefteas
Montessori
D
Tl

Correct Ans : D

Subject : Child Developement

Q.No: 140 means the field or matter on which operation has to be done.
2479739

o1 3rf & a8 & a1 verd o W Wfehar (3fRR) H T 71

Evaluation

A
AU (FATIERA)
Product

B
IS (FIeF)
Content

C
fawaaRg (Hee)
Activity

D
Tty (gfdefadt)

Correct Ans : C

Subject : Child Developement
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Q.No: 141 Sheldon is a genius scientist with an IQ of more than 160. He has recently won one of the top prizes in the field of physics. However, he fails when it
2479768 (omes to maintaining a successful friends circle. Which of the following theories can explain this behavior?

e 160 T 31T F o, 7Y, (Ffe-afs) & WY U UAHRT 371w §1 I8 gra & & Hifae! & &7 § W gen! & I u o1 81 gaiies, 94 U6 a%d i dadt
T T B 919 ST € o 98 A 8 o 81 i 3 9 3 o Risid 39 SI9ER 3 Se 3R el 82

Theory of Multiple Intelligence

A
- & s
Single-factor theory
B
™ HRS Rl
Group Factor theory
C
g RS Rigia
Two-factor theory
D

% ore Rigia
Correct Ans : A

Subject : Child Developement

Q.No: 142 At which of the following steps in the Triarchic Theory of Intelligence does the person tries to establish a relationship between past situations and the
2479782 present situation?

< o1 Pranfy Riefa § FofaEa § 3 g o o e fed Rl iR simm [ & d gdy Rifid S 31 7 o 82

Encoding
A

THIET

Inferring
B

HEg

Mapping
C

Bftf

Application
D

TfiHT

Correct Ans : C

Subject : Child Developement

Q.No: 143 According to British psychologist Raymond Cattell, how many types of intelligence constitute the g?

2479815
ffemt eiae WS Hea & e gfa fha ToR &1 5 (g) § 7ifed gkl &2
Two
A
Q@
Three
B
Gid
Four
C
IR
D Six
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Ed
Correct Ans : A

Subject : Child Developement

Q.No: 144 means the cause of the behavior.
2479936
%1 31f § FIER T BRI
Focus
A
Cad
Locus
B
forgo
Instinct
C
o vl
Force
D
9

Correct Ans : B

Subject : Child Developement

Q.No: 145 Carroll Izard proposed how many basic emotions?

2479974
A 39S (Izard) A FERiRd & @ fea g W3 &1 U TH=0 TRdd [par g;
6
A
8
B
8
10
c
10
12
D
12

Correct Ans : C

Subject : Child Developement

Q.No: 146 Which of the following view of motivation believes in community practices and emphasises the role of communities in one’s development and motivation.
2480019

AfRoT & P & 3 o5 o TRE aeie urel § fyr orar § ¢k ol F e ok afiRon # Tt F e | SR T §

Behaviourist Approach

A
ERRAE! ERBIT
Humanistic Approach
B
Hgarare =Rem
C Cognitive Approach
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TS B

Socio-cultural Approach

TR - Wik faiep Ef¥hIor
Correct Ans : D

Subject : Child Developement

Q.No: 147 Which of the following is NOT a correct feature of New Education Policy?

2480133

e # 3 1 75 R A7 3t a8 fodwar 781 82

It covers school education, higher education as well as professional education.
A

o et e, I= Rign b Ary-ary saaiis Rian o i €

It includes research and innovation, along with teacher education.
B

T e R1eT F WY-ToTy STHYM 3R TR Wit &

It focuses on specific foundational skills that children should have.
C

T fafkry gavy SIva W @ $fd S § < 9= & U g Aoy

The higher education system will be restructured into Tier 1, Tier 2 Tier 3 and Tier 4.
D

I e yumeht &) fomR 1, R 2 RowR 3 3R oW 4 A gifda famar som

Correct Ans : D

Subject : Child Developement

Q.No: 148 According to Spearman, intelligence is:

2480253
TeRAA & SER, 9 §:
Ability to abstract thinking
A
Sy fRia Bt e
Rational thinking
B
T R
Capacity to acquire knowledge
C
T YT SR T &
Ability to think well
D

B § feia ot e

Correct Ans : B

Subject : Child Developement

Q.No: 149 A child scores good in all the subjects but always get poor marks in one subject According to Burton Hall the child suffered with
2480698

T s et Al  are1 R oxal €, A U favg A 5 TR 3 Ui $RaT 81 9 i P SiuR s ifgd diar @

General backwardness

A
[ Heell
Severe backwardness
B
e vl
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c Specific backwardness

fafkry Haar

None of the given options

feg e el # § BIE T

Correct Ans : C

Subject : Child Developement

Q.No: 150 On an average a neonate’s height is between:
2482230

oo Y B A e Bt Bl

6-10 inches
A

6-10 39

11-16 inches
B

11-16 39

17-21 inches
C

17-21 59

22-28 inches
D

22-28 59

Correct Ans : C

Subject : Child Developement
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